HVARRIE, oy /v RO RER

7yhNO  TECCQS B4 ¥ amn=~Y—/%(3732° F—0'=y) ORG
a —Pinene o 46.000%
8 —Myrcene B -Vt 11.100%
3 —pinene + Sabinene B -t %V + Y xy 8.700%
Limonene VEAY 4.900%
B —Caryophyllene B=AT4V 2.900%
Terpineol-4-OL TIWE X F—N=4-0OL 2.300%
v —Terpinene v —=TIVE X 2.300%
o ~Muurolene + Germacrene D o —h=ab A+ VeIV D 1.400%
a —Terpinene a—TIVE R 1.400%
6 —Cadinene R 0.700%
S —Farnesene B =77Vt 0.600%
Camphene Y NIES 0.400%
« —Phellandrene a-7z7 Ny 0.400%

Bornyl acetate KN VTET—] 0.300%



HVARRIE, oy /v RO RER

7yhNO  TECCAS g Y azn=~Y=/tfay2 =12y ORG
a —Pinene o 40.200%
8 —Myrcene B -Vt 16.200%
3 —pinene + Sabinene B -t %V + Y xy 8.500%
Limonene VEAY 4.400%
B —Caryophyllene B=AT4V 3.000%
v —Terpinene v —=TIVE X 2.200%
Terpinen—4-OL TIVE R ~4-0l 2.000%
a —Terpinene a—TIVE X 1.400%
a ~Muurolene + Germacrene D R s IR O /A7) 1.100%
6 —Cadinene R N 0.800%
 —Farnesene B =77Vt 0.700%
o —Phellandrene a-7x7/Nby 0.400%
Bornyl acetate KNV VT E2T—h 0.300%

Camphene YNV 0.300%



HVARRIE, oy /v RO RER

7yNO  TECBIS g Y azn=~Y=/tfay2 =12y ORG
a —Pinene o 43.700%
8 —Myrcene B -Vt 10.500%
B —pinene + Sabinene B -t %V + Y xy 10.400%
Limonene VEAY 5.300%
B —Caryophyllene B=AT4V 2.900%
Terpinen—4-OL TV ~4-0l 2.800%
v —Terpinene v —=TIVE 2.700%
a —Muurolene + Germacrene D o —h=aL A+ =D 1.900%
a —Terpinene a—TIVE R 1.600%
6 —Cadinene R D N 1.500%
Bornyl acetate KNV VT E2T—h 0.700%
o —Phellandrene a-7x7/Nby 0.500%
 —Farnesene B =77Vt 0.500%

Camphene YNV 0.300%



HVARRIE, oy /v RO RER

yhNO  TECBGS

B4 YV aonN-ANV—/%fIUXR" F—h"=v) ORG

a —Pinene

B —Myrcene

B —pinene + Sabinene
Limonene

B —Caryophyllene

v —Terpinene

a ~Muurolene + Germacrene D
B —Terpinene

0 —Cadinene

Bornyl acetate

Terpinen-4-OL

o VA

B Ity

B -t %V + Y xy
JELY

B=HVA7 4V

v —=TIVE X

o —h=ab U+ Ve D
B-TNE R
R/
RNV T T—h
TIVE A —4-0l

47.300%
15.300%
6.200%
4.500%
3.300%
2.900%
2.800%
1.400%
1.400%
1.200%
1.000%



